

(١) إذا كان $v = 2x + 3$ و $u = x^2 - 5$ مثال

إذا كان $v = 2x + 3$ و $u = x^2 - 5$

جد $\frac{dv}{dx} \times \frac{du}{dx} = 1$

الحل:

$\frac{dv}{dx} \times \frac{du}{dx} = \frac{dv}{du}$

$(0) (2x) =$

$(0) (2(x-5)) =$

$(0) (2(x-5)) =$

$12.5 = 0 \times 27 =$

مثال

إذا كان $v = 2x + 3$ و $u = x^2 - 5$

جد $\frac{dv}{dx} \times \frac{du}{dx} = 1$

$\frac{dv}{dx} \times \frac{du}{dx} = \frac{dv}{du}$

$(5-2) (2+2x) =$

$(5-2) (2+(2-2)) =$

$(1 \times 2) (2+(1 \times 2)) =$

$(2-) (2+(1)2) =$

$2-x 0 =$

$2. =$

$\frac{dv}{dx} \times \frac{du}{dx} = \frac{dv}{du}$

مثال

إذا كان $v = 2x + 3$ و $u = x^2 - 5$

جد $\frac{dv}{dx} \times \frac{du}{dx} =$

الحل:

$\frac{dv}{dx} \times \frac{du}{dx} = \frac{dv}{du}$

$(5-2) \times (2+2x) =$

$(5-2) (2+(2-2)) =$

$(5-2) (2+(2-2)) =$

$5-2 = 3$

مثال

إذا كان $v = 2x + 3$ و $u = x^2 - 5$

جد $\frac{dv}{dx} \times \frac{du}{dx} =$

$\frac{dv}{dx} \times \frac{du}{dx} = \frac{dv}{du}$

$(3) (2+2x) =$

$(3) ((2+2)) + (2+2) =$

$(2+2) (2+(2-2)) =$



مثال
 إذا كان $v = (x-2)^3$ فجد $\frac{dv}{dx}$

الحل:
 $\frac{dv}{dx} = 3(x-2)^2 \times 1 = 3(x-2)^2$

مثال
 إذا كان $v = (x-5)^3$ فجد $\frac{dv}{dx}$

الحل:
 $\frac{dv}{dx} = 3(x-5)^2 \times 1 = 3(x-5)^2$

$\frac{dv}{dx} = 3(x-5)^2$

مثال

إذا كان $v = (x-2)^3$ فجد $\frac{dv}{dx}$

الحل:

$\frac{dv}{dx} = 3(x-2)^2 \times 1 = 3(x-2)^2$

$\frac{dv}{dx} = 3(x-2)^2$

$\frac{dv}{dx} = 3(x-2)^2$

$\frac{dv}{dx} = 3(x-2)^2$

$\frac{dv}{dx} = 3(x-2)^2$

مثال

إذا كان $v = (x+2)^3$ فجد $\frac{dv}{dx}$

الحل:
 $\frac{dv}{dx} = 3(x+2)^2 \times 1 = 3(x+2)^2$

مثال

إذا كان $v = (x-2)^3$ فجد $\frac{dv}{dx}$

الحل:
 $\frac{dv}{dx} = 3(x-2)^2 \times 1 = 3(x-2)^2$

$\frac{dv}{dx} = 3(x-2)^2$

$\frac{dv}{dx} = 3(x-2)^2$

$\frac{dv}{dx} = 3(x-2)^2$

$\frac{dv}{dx} = 3(x-2)^2$

$\frac{dv}{dx} = 3(x-2)^2$

$\frac{dv}{dx} = 3(x-2)^2$

$\frac{dv}{dx} = 3(x-2)^2$

$\frac{dv}{dx} = 3(x-2)^2$

مثال

إذا كان $v = (x+2)^3$ فجد $\frac{dv}{dx}$

الحل:
 $\frac{dv}{dx} = 3(x+2)^2 \times 1 = 3(x+2)^2$

الحل:

$\frac{dv}{dx} = 3(x+2)^2$

$\frac{dv}{dx} = 3(x+2)^2$

$\frac{dv}{dx} = 3(x+2)^2$

$\frac{dv}{dx} = 3(x+2)^2$

$\frac{dv}{dx} = 3(x+2)^2$

$\frac{dv}{dx} = 3(x+2)^2$

$\frac{dv}{dx} = 3(x+2)^2$



مثال: $3 - (x + 2) = (x - 3)$ حد $(x + 2)$ حد $(x - 3)$
 الحل: $(x - 3)^2 = (x + 2)^2 - 3^2$
 $(x - 3)^2 = (x^2 + 4x + 4) - 9$
 $(x - 3)^2 = x^2 + 4x - 5$

مثال: $3 - (x + 2) = (x - 3)$
 إذا كان $3 - (x + 2) = (x - 3)$
 فجد $(x - 3)$
 الحل: $(x - 3)^2 = (x + 2)^2 - 3^2$
 $(x - 3)^2 = (x^2 + 4x + 4) - 9$
 $(x - 3)^2 = x^2 + 4x - 5$

مثال: $3 - (x + 2) = (x - 3)$
 إذا كان $3 - (x + 2) = (x - 3)$
 فجد $(x - 3)$
 الحل: $(x - 3)^2 = (x + 2)^2 - 3^2$
 $(x - 3)^2 = (x^2 + 4x + 4) - 9$
 $(x - 3)^2 = x^2 + 4x - 5$

مثال: $3 - (x + 2) = (x - 3)$
 إذا كان $3 - (x + 2) = (x - 3)$
 فجد $(x - 3)$
 الحل: $(x - 3)^2 = (x + 2)^2 - 3^2$
 $(x - 3)^2 = (x^2 + 4x + 4) - 9$
 $(x - 3)^2 = x^2 + 4x - 5$

مثال: $3 - (x + 2) = (x - 3)$
 إذا كان $3 - (x + 2) = (x - 3)$
 فجد $(x - 3)$



(٣) مشتقة الجذر

مثال

$$\frac{دس}{دس} = \sqrt[3]{٣ + ٤س}$$

*

$$\left(\sqrt[3]{٣ + ٤س} \right)' = \frac{٤}{٣} \sqrt[3]{٣ + ٤س}^{-٢}$$

الحل:

$$\frac{دس}{دس} = \frac{٤س}{٣ \sqrt[3]{(٣ + ٤س)^٢}}$$

$$\frac{٤(دس)}{٣ \sqrt[3]{(٤دس + ٣)}} = \frac{٤(دس)}{٣ \sqrt[3]{(٤دس + ٣)^٢}}$$

مثال

إذا كان $\frac{دس}{دس} = \sqrt[3]{٣ + ٤س}$
 فجد $\frac{دس}{دس}$

*

$$\left(\sqrt[3]{٣ + ٤س} \right)' = \frac{٤}{٣} \sqrt[3]{٣ + ٤س}^{-٢}$$

$$\frac{٤(دس)}{٣ \sqrt[3]{(٤دس + ٣)}} = \frac{٤(دس)}{٣ \sqrt[3]{(٤دس + ٣)^٢}}$$

الحل:

$$\frac{٤(دس)}{٣ \sqrt[3]{(٤دس + ٣)}} = \frac{٤(دس)}{٣ \sqrt[3]{(٤دس + ٣)^٢}}$$

*

$$\left(\sqrt[3]{٣ + ٤س} \right)' = \frac{٤}{٣} \sqrt[3]{٣ + ٤س}^{-٢}$$

مثال

إذا كان $\frac{دس}{دس} = \sqrt[3]{٣ + ٤س}$
 فجد $\frac{دس}{دس}$

*

$$\left(\sqrt[3]{٣ + ٤س} \right)' = \frac{٤}{٣} \sqrt[3]{٣ + ٤س}^{-٢}$$

$$\frac{٤(دس)}{٣ \sqrt[3]{(٤دس + ٣)}} = \frac{٤(دس)}{٣ \sqrt[3]{(٤دس + ٣)^٢}}$$

الحل:

$$\frac{٤(دس)}{٣ \sqrt[3]{(٤دس + ٣)}} = \frac{٤(دس)}{٣ \sqrt[3]{(٤دس + ٣)^٢}}$$

مثال

$$\frac{دس}{دس} = \sqrt[3]{١ + ٤س}$$

مثال
 إذا كان $\frac{دس}{دس} = \sqrt[3]{١ + ٤س}$
 فجد $\frac{دس}{دس}$

الحل:

$$\frac{٤(دس)}{٣ \sqrt[3]{(٤دس + ١)}} = \frac{٤(دس)}{٣ \sqrt[3]{(٤دس + ١)^٢}}$$

الحل:

$$\frac{٤(دس)}{٣ \sqrt[3]{(٤دس + ١)}} = \frac{٤(دس)}{٣ \sqrt[3]{(٤دس + ١)^٢}}$$



مثال

$$\text{إذا كان } \sqrt{x^2 + 5} = y \text{ نجد } \frac{dy}{dx}$$

$$\frac{dy}{dx} = \frac{dy}{du} \cdot \frac{du}{dx}$$

الحل:

$$\frac{dy}{dx} = \frac{1}{2\sqrt{x^2 + 5}} \cdot 2x$$

$$\frac{dy}{dx} = \frac{x}{\sqrt{x^2 + 5}}$$

مثال

$$\text{إذا كان } \sqrt{1 + 8x} = y \text{ ، } \frac{dy}{dx} = ?$$

$$\frac{dy}{dx} = ?$$

الحل:

$$\frac{dy}{dx} = \frac{dy}{du} \cdot \frac{du}{dx}$$

$$(y) \left(\frac{1}{1 + 8x} \right) \cdot 8$$

$$= \frac{8y}{1 + 8x}$$

$$= \frac{8\sqrt{1 + 8x}}{1 + 8x}$$

٣.١٧ صيفي

$$ص = ص \cdot ١ = ص \cdot ١ = ص$$

جد دس

الحل:

$$\frac{١ \times ٤ -}{٣} - (٧ \times ٢) + (٢ \times ١) = \frac{دس}{دس}$$

$$\frac{٤}{٣} + (٧ \times ٢) + (٢ \times ١) =$$

٣.١٧ متوي

$$ص = ص \cdot ١ = ص \cdot ١ = ص$$

جد دس

الحل:

$$\frac{دس}{دس} - (٢ \times ١) + (١ \times ٧) + (٧ \times ٢) =$$

٣.١٧ صيفي

$$١ + ٧ - ٣ = ٤ \quad ٧ + ٤ - ٢ = ٩ \quad ٧ + ٤ - ٢ = ٩$$

جد دس

الحل:

$$\frac{٤}{٣} \times \frac{٩}{٤} = \frac{دس}{دس}$$

$$(٣) (٣ + ٤) =$$

$$(٣) (٣ + (١ + ٧) ٣) =$$

$$٧ + (١ + ٧) ٩ =$$

٣.١٧ متوي

$$ص = ص \cdot ١ = ص \cdot ١ = ص$$

جد دس

الحل:

$$\frac{دس}{دس} \times \frac{دس}{دس} = \frac{دس}{دس}$$

$$(٢ -) (٤ - ٤) =$$

$$(٢ -) ((٧ - ١) ٢ - ٤) =$$

$$(٢ -) (٧ + ١ - ٤) =$$

$$(٢ -) (٧ + ١ - ٤) =$$

$$٧ - ١ - ٢ - ٤ =$$

٣.١٨ متغير قديم

جد $\frac{دع}{دع}$ مع $\frac{دع}{دع}$

$$ص = \sqrt{٣ + ٤} + (٣ - ٩)٤$$

الحل:

$$\frac{دع}{دع} = ٤(٣ - ٩) + (٣ + ٤) \frac{دع}{دع} = \frac{دع}{٣ + ٤\sqrt{٣}}$$

٣.١٨ متغير جديد

جد $\frac{دع}{دع}$ مع $\frac{دع}{دع}$

$$ص = \frac{٣}{١ + ٣} + \sqrt{٣ + ٤}$$

الحل:

$$\frac{دع}{دع} = \frac{٣}{(٣ + ٤)٤} + \frac{(١)(٣) - (١)(١ + ٣)}{(٣ + ٤)٤} = \frac{٣ - ٤}{٣ + ٤\sqrt{٣}}$$

٣.١٨ متغير قديم

جد $\frac{دع}{دع}$ مع $\frac{دع}{دع}$

$$ص = ٤ - ٤ - ٤ = ٤ - ٤ - ٤$$

الحل:

$$\frac{دع}{دع} = \frac{دع}{دع} \times \frac{دع}{دع}$$

$$= (٤ - ٤) (٤ - ٤)$$

$$= (٤) (٣ - (١ + ٣ + ٤)) =$$

$$= (٤) (٣ - ٤ - ٤) =$$

$$= (٤) (٣ - ٤) =$$

$$= ٤ - ٤ - ٤ =$$

٣.١٨ متغير جديد

جد $\frac{دع}{دع}$ مع $\frac{دع}{دع}$

$$ص = ٤ + ٤ = ٤ + ٤$$

الحل:

$$\frac{دع}{دع} = \frac{دع}{دع} \times \frac{دع}{دع}$$

$$= (٤) (١ + ٤) =$$

$$= (٤) (٣ - (١ - ٣ - ٤)) =$$

$$= (٤) (٣ - ٤ - ٤) =$$

$$= (٤) (٣ - ٤) =$$

$$= ٤ - ٤ - ٤ =$$